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ED:EA=DC:AB
50 : 240 = 60 : AB
- AB = 288(cm)
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AABC ¢} AAED oA /A = 35,
/ACB = /ADE = 90° 0|2 &
AABC @ AAED (AA )
AC:AD =BC:ED
(5+x):4=6:3
3(5+x)=24
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th5 7ol A BC//DE & o, x +y o g2?

@Qus @12 O1B5 @uU 6 U5

~&B

AB:BD=AC:CEC°JE28:x=6:3

6x =24 Lox=4
AC:AE=BC:DE°|BP&6:9=5:y
6y = 45 Soy=1.5

L x+y=4475=115
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thS 1904 AC//DE ©]1 EF1AB ¥
), AABC °] Yo|& 61H?

@ 12.9cm? @ 13.8cm?
@ 14.7 cm? @ 15.6cm?
® 16.5cm?

B

1
ABDE = 3 % 5x 3 =17.5(cm?)

ADBE &2 AABC

BD : BA=5:7
ADBE : AABC = 25 : 49
7.5: AABC =25:49

o AABC = 14.7( cm?)




